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Xi Vi Xi° XiVi
1 1 1 1
3 2 6
4 4 16 16
6 4 36 24
8 5 64 40
9 4 81 63
11 8 121 88
14 9 196 126
sum(X) 56 40 524 364

(Z x)? = (56)2 = 3136

¢, = ((40 * 524) — (56 * 364))/(8(524) — (3136))
- 6/11

¢, = ((8 * 364) — (40 = 56))/(8 = (524) — (3136))

= 7/11
6 7
TR T
y=a+bx rdagpally 13 22 1l
(A ) (381 g5 3
X 0 1 2 3 4

y 1 18 | 33 | 45 | 6.3
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clc

$format long g

x=[1 34 6 8 9 11 14];

y=[1 2 4 457 8 9];

sx=sum (x) ;

sy=sum(y) ;

sx2=sum(x."2) ;

sxy=sum(x.*y) ;

n=length (x) ;
cl=(sy*sx2-sx*sxy) ./ (n*sx2-sx"2) ;
c2=(n*sxy-sy*sx) ./ (n*sx2-sx"2) ;
disp(' the Equation is ')
disp(['y=',{cl}, 'x+',6{c2}])

the Equation is
'y=" [0.5455] 'x+' [0.6364]
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ayg = f1(x)f1(x1) + f1(x2) f1(x2) + f1(x3)f1(x3) = e®e® + e'e! + e?e?

~ 63
a1z = f1(x)f2(x1) + f1(x2)f2(x2) + f1(x3)f2(x3) = €%€® + ele® + e?e*
~ 424
azq1 = 424
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a2 = f2(x)f2(x1) + f2(x2)f2(x2) + f2(x3)f2(x3) = €%€° + e*e? + e*e*
~ 3036

bkz\..a...\éuua.a

by = z Yifr(x;)
=1

by = y1f1(x1) + y2f1(x2) + ¥3f1(x3) = 1.e° + (=2)e' + (—40)e* ~ —296
by, = y1f2(x1) + yof2(x2) + y3fa(x3) = 1.€° + (—2)e? + (—40)e* ~ —2198
Adaal) B o

NgE

ciaik=bk, k=1,2,...,m
i=1
c1a11 + CAr1 = b1 k=1
Cc1A12 + CrAyp = b2 k=2

63c, + 424c, = —296
424cq + 3036¢c, = —2198
C1~r2¢ Com-1 (A8 Juand Guilalaall oila oy
A JSddly 488 5N Al ¢ 683 )
y = 2¢* — e2*
s
rdagally 1o 2y 5 uall cilag A aladiuly

y = c;eV* + c,e3*

.(0,2.5) «(0.5, 8.75) «(1, 32.846) adll (3 53 A
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- gl )
x=[0 1 2];
y=[1 -2 -40];
m=2;
n=length (x) ;
f=inline('exp(x) ')
a=zeros (m,m) ;
b=zeros (m) ;
for i=1l:m
for j=1:m
for k=1:n
a(i,j)=a(i,j)+£(i*x(k))*£(j*x(k));
end
end
end
for i=1:m
for k=1:n
b(i)=b(i)+y (k) *£f(i*x(k));
end
end
d=inv (a) ;
c=d*b;
disp(['cl= ',{c(1)}])
disp(['c2= ',{c(2)}])
gLl
'cl= ! [1.9901]
'c2= ! [-1.0020]



